VI. SERVICE INFORMATION

DISASSEMBLY PROCEDURE
1. TOP COVER REMOVAL Remove 8 each thread-forming phillips screws (HP-5) 1/4" long from the
perimeter of the top cover; then remove 3 each 6-32 x 3/16" long phillips machine screws securing PCB

standoffs and front panel brackets. BE SURE NOT TO MIX UP THE MACHINE AND THREAD FORMING
SCREWS WHEN REPLACING THE TOP COVER.

2. BOTTOM COVER REMOVAL Remove 8 thread-forming screws 1/4" long each from the perimeter of
the bottom cover. Remove (1) 6-32 x 3/16" long phillips machine screw from the RE 14 bottom cover.

3. FRONT PANEL REMOVAL: RE 14.

A. Remove 4 each 6-32 x 3/8" long phillips machine screws as shown in the diagram below.
B. Remove 3 each 6-32 x 1/4" long phillips machine screws as shown below.
C. Remove the thread-forming screw from the center forward edge of the bottom cover. DO

REMOVE THE SCREW FROM THE CENTER LOWER EDGE OF THE FRONT PANEL: this
secures the bottom cover bracket which should remain attached to the front panel.

D. Remove the two 4-40 x 1/I6" long screws just above either end of the LED display on the
front panel.

E. Remove the EQ and RTA Level control knobs and shaft nuts using an 11 mm or 7/I6" nut
driver. Remove the MIC Input nut and washer.

F. Carefully pull the front panel forward and off the chassis.

BE SURE TO ALIGN ALL LEDs VERY CAREFULLY WHEN REPLACING THE FRONT PANEL
EXCESSIVE BENDING OR PUSHING IN ON THE LEDs MAY CAUSE THEM DAMAGE OR

FAILURE




ALIGNMENT PROCEDURE

The only alignments in the RE 27 and RE 14 are the analyzer filter output level trim pots. These are
calibrated at the factory to the pink noise in each unit.

NOTE: DO NOT RECALIBRATE THE ANALYZER TRIMMERS TO ANY EXTERNAL PINK NOISE
SOURCE. CALIBRATE ONLY TO THE UNIT'S OWN PINK NOISE SOURCE AS DESCRIBED BELOW, TO
INSURE PROPER EQUALIZER/ANALYZER MATCHING.

1. Using a 1/4" mono patch cord, connect the Pink Noise Out on the rear panel to the EQ Input
Push in the BYPASS switch.

2. With the bottom cover removed; turn the unit upside down with the front panel facing you.
3. Set the Curve Select switch to NORMAL and the Window Select switch to the +1 dB position.

4. Turn up RTA Level controls until the display responds; adjust these such that the most green LEDs are
lit.

5. Using the RE 14 schematic diagram, adjust the proper trim pot so that each filter
band shows the most stable green LED response. Be sure that all sliders are in the center detent position.
In the lower frequencies (below 1 kHz) the inherent crest factor of true pink noise will cause
considerable LED flutter. Adjust the trimmers such that green is dominantly on, and that fluctuations
cause both red and yellow LED excursions. If you occasionally switch to the +3 dB setting, it will be easier
to tell if one of the lower frequencies is set too high or too low.

NOTE: NO ADJUSTMENTS REQUIRED FOR FILTERS ABOVE 500 Hz

Test/Troubleshooting Hints

1. The RE 27 and RE 14 really contain their own test equipment By patching the Pink Noise Output to
the EQ Input with a mono 1/4" patch cord (and no mike plugged in) the entire analyzer/equalizer/pink
noise system can be checked and verified. Turn up the RTA and EQ Level controls until the display LEDs
respond. With all sliders centered, the display should show all green in the +3 dB position with proper
level settings. Switching to £1 dB should show mostly green with some LED flutter in the lower frequency
bands below 1 kHz (due to inherent crest factor of pink noise showing through the 2 dB window). Moving
each slider up and down should produce red and yellow LED response in that band. Switchingto HOUSE
CURVE should cause red LEDs to light between approximately the 250 Hz and the 2.5 kHz bands

2. If one or more LEDs is not working be sure to check for DC voltage right at the LED pins, with enough
RTA input level to drive that band. If the real cause is defective IC on the analyzer PCB, you will go
through the front panel removal and LED replacement for nothing If more. than one LED is out in the
same band or two adjacent bands, suspect a defective IC on the analyzer board.



mson] | EBBIAEEEE O

v v60-225

1w

B,

T3A37 3SION ANId—

m

sl o88 { oM L

B9 (5] B

g 900-22s

; E%ggg% 0 gggg ggﬁ_.....@@ 5o

5

2z

O O0+.0 O, 0 0.0 OO0 O+ .0 OO0 O

o0 Dge | i ¢ g g1

ov@] 09D 052 @] gv:' 1910 1€9FED 101G

== =IkE
mﬂ D- - D.'m'

—

q..m

<
mmmmo Dﬂum DD D 5ol -
8. ooa@ﬂu@m 059 '0. A (D <o O™
o s HEHS2EE B S E HSEa8E
0 @ @ @ @ @ @ @ @ @ @ @ @ @O
@ @ @ @8 @ 6 @ 8 8 68 @ @ @ @
@ @ @ @ @ @ @8 @ @ @ @ @ @ ,@

=

[ o o

® bR R EE 88 I,E__T- noTNIA
of - § Z FBSH @ HSEH @. IE___.I 38800

? 13A3T VLY



A ¥00-22S

SSYdAL—

TYNDIS ——

AT

P

13A3- =]

AQvDTISAD——Z& 7]

I 1

<

—_ A —

—_— A —

— A ——

— CA —

— A —

— A ——
— a2 —

i
A o

@
o

¥t

:

o

~
C

[3f]

{ vey |

™
4

5

g

er

[ ror

e
il
]

—
N

O

*
j@

o}
) K
[N}

r

-0

C(ATINO 39> 33M0d

g S80-2¢S

avh1d3N0——

Sa

— oA —

e

9¥

B

& [

|

—— 1417 AND

—_— A ——

er

[

i

[l-nae




 —

L L L L L

I o N S S

Iiadll

Jlu U)o

HI B[ BB H{BHIBIHI[BIHIBIHH

BN R R S & U &

®

1

R1141

R113

M M B

R1121

N

R1111

R1101

m’w

R109

6@

R1081

R107

nu'@@u@u
u@
Hlp il il

i .E@I@ﬂ :
.@@I@H
B IQMJ_—”: .
mﬂ

@

R1061

R10S

4 ﬂll %
mﬂ
B8 R
RV

R1041

’%J

g i
=
m"n-@-
m'u@uu
HiES
% ::m b (- ke

R103

L_—_i

HI B BB BB AIEIBIBIHI|A]H]

[Tt Tl T Tinlm

R1021

III-E@I@H
Ill @%
00 §

m"mﬂ
e
m @c 5¢)

— N9 M+ H B+ O H H H O+ M H

R1011

X

L~
N

_j_‘__JJ_J_J__I_J____J_AM__J____

®
1o
b
®

U 9 3
®
®
®
®
I3

-
8 O § i



0009-SSE (302> 8605-SL286 «)n ONIMYNT 3TVYOS LON O T o b og3wms] 31va quu:u— 169NY12 3,9g  AOTAIYIH S yavaa
_ o .
v, £GI-12G 033N }S3M SNUIAY U3/y 20801 'duo] Du>mm&q_ 169N982 3, uq avd 0IND 1Nd npriow | ¥ .>um_mza_ﬂ>u~_
A ON 'm¥T -
IJILYWIHIS V1 Z@ 2 ¥3IEWNN CZHOY) T ¥3L714 WDISISIY
1 3 2104 131dWYX3
3L . . u&%m Tzuzwﬁmu
8 [ 6 | 01] 21Z] 291 1-10> AITWN #3114
v1 | et [ 1] a1z] et JDLYNDISIT
T 12| elaz[xxs X ¥X X
L |9 | S| LIZ}) Av IWIHOS NOILYNDIS3T ¥31lid 9
8 | 6| 01| s1Z|%se Q8 JIW Nd NO J¥Y NAOHS SIN3NOdWOD 119 'S
YT et 1 =1] o1zl »st NOILISOQ ,430, ¥0 +iND. NIFHL NI NAOHS SAS 1 ¢
< 110+02=82Z-SSZ
<& AR EFED Scen=v2z 812
- L | 91 s]s1z|oeg ¥2071=
ASI+O OAGI+ 8 |6 | o] ciz] oor YEEWT=SIZ-¥IZ Sddv d0 €
- LIE\QE L-ar €1 & ¥l ] €1 ] 21| S1Z] 0s2 m m m__«mm
Tl E3 iD= D= et elEe et o DO
* s1/0ew 6 1
T | &FF 2|.QHm QIAHHHE 8 [ 6 [or]wiz] €9 'SNOILIINNDD ATddNS ¥3IA0d 2
AGI-O- O AGT- s e vl | €1 | 21| viz] o% 1 ‘Wil4 NDEEYD %S AP/1 S3¥ 1w 1
9-er s v Z 1A ] X] XZ 03333311 @ILON ISIMEIHIC SSIWND ST [N
2 L 378v1 NOIL3NNOD Z1-+1Z
. m|ADHA 5 TavDE 93114 vid
| E-Er Tioe GEE
ano
s-er uve
9-¢r
ano
oo aooo
T ano ——
3SIDN N |
e3r SN1d .= | 130
- ZANRN 3sI0N
) 1no o NI
3SION “ O
xzmm 9s _
| Adke _
a3v0d
L 1no/nt 03
r ¥1-2
S¥31714 .
- — M0SI £20
— ASD | _ _ i I 3SNOH St 2200
_ N _ ,\o,m\,_\, - IS e 99 Aw _—
aad R v \ 21 (6 WalBN
AN Agl=g4n EE¥ Ag= 12 *e = = =2
| AOD | A2Er=ND | ! (8 H e
_ 1974 9 SE/LY 8r1-125
o v2-81Z ) gl
| u/./._ ASI=440 _ 2€4 Ag1=ND D H
_ Avwk AEI=ND _ e (ED - 1NANI
A ASI+] 2 an ire JIW
. N KD T I ir
AST+ 8id. _ Y _%ﬂ Y 3 s
| AN | Agl=440 | T8 Ag=np ACT+ |
(WIIdAL), A¥EI=ND 430714 WOIdAL
L _oavod a3 L el e awviE g0 vid)
TQ,X Xm-mﬁ
2s
are
AZ'2+
PRI Z1 2% %1 8L AST+
T MWW

<.
263 Azte| TE¥ Agos|  0Ed

Z1 A9'6l 21 2281 4l (BB
$=WW—

ABT+ B2 Agps LEY

6cd
AST+




0009-SSE (902)  860S-G4286 YA ONIMVAT 37W3S LON 0O Ty U 133us | 16NOMSO 3pug Had nuv_uuxu_ T6AYWO2 3 ya  HIIIAYIH S NmyNg
q 8t1-12G 033NN 3SIM ANUAAY U3/p 20801 'duod p —~—
WIS q3ADuddy | 1690992 31vq HOLIAS 14171 ON9 Q300¥ ‘GivDE 10 NI Q3LYN9ISIAIA noriov | € azu]SNOISIAZY
‘A3 ON “ANT
u qzm um 2HI 3¥v SIS3HIN3JYd ¢ > NI NADHS
Il H S4_NNOD ‘G3LON 333MA_Ld30X3 3WYS 2HD NATHS TH £
F1 39/39 2 WITWN ‘(ZHD¥) T ¥3114 T 13NNVHI A0LSISIH
I 2107 3 1dWYX3
3dAL ININDAWOJ
¥3EWNN T3NNYHI
¢£2-10> Y3EWNN A3LT3
¥OL1YNDIS3T o
A9l ASL X XX X X
e S
[AmMDt Ho 1 T pgr- 9 Longie viferfarfnz| o] €1 Jvno3 ¥O SSTb I ‘Sdiv_dl '
_ T2 el nz[oes] ot NOILISOd .330. ¥0 .1NO. ¥I3HL NI NADHS SAS v ¥
8 | 6 (01| Z| % | W 1 v avng
vt 32 N0 - 14 8 v
_ onal- Lo slozxsa] ot 4 i g
nas Lrse L nse s s Lo g L prisraotont— awm ato
0= 10— 1T0°<~ 102" 10~ 10— 10 'SNOILO3NNDD ATddNS ¥3A0d €
m_u|_| m_u|_| tuq. m_un_. malﬁ :uH mGH 8 | 6 |01 01Z| 0E9 | £ AT0d A0OT $avd 1v 2
pEo oncls [Z T 5T el ezloor | o WL TWLIN ZT Ap/T S¥OLSISIY TW T
A3 T YENT 20 oﬁ_ mm_ w Mw cﬂ.% m ca3aLoN 3simdan1n ssaw S 1[N
e o oo wi-ar ang ey RaoT - glelofez[oo] € €314 WIldAL Qavoe 31713 03
: y-ary TONIIS | jsig SISswHd | L]15|6cf8zj€e9 )| 2
0P tlecl €187 0v] 1 - T ToavoE 4301s
—_—— e A — - Z | X | x| xz jo3a3fs3tig | AR
! — _ Jwe vl ® v_uw“ w2-2r] _l__Jw | e o Ty V " I ;
ASL-O ' s-1r .YQ.L HYON ﬁ 1411 viJerfarf ez 1] ¥ [ IPTH-120TY ~Totd e
a-am | coi=pry 20 | 8 [ 6 01 8Z[ 01| € SY3qTIS O) 15008 ¢— | — 103 mmmwlmﬁml_
2-2r , 6-1f — L3417 OND ES : Te——————— ___ __cET e
_ AoS ACE . 7916 z[x9] @
00i—— — 0001 =10 177 \_\wwm asn e et a1l 2z w | 1
_ 1+ +] 63 ¢ va _mou ng tHA || T |2 e[ z[N52] o
R ] Sl [Frerarabeie
001~ | 9 | S Z 8
| 21+ | _ g ﬂwvuﬂum vi | £l | 21| 9Z | 0ES | £
T2 | c|oz]oor | 9 ¥1-2
ooi— unmwmcm b 0 | | YHOLI=: nw%wv 8| 6joif9z]ose] S ASLAOT N2 0 =200 Sa3L
| o+ T 82 T | YHoS1=39 | 75| c|sz|091 | ¥ b
BE=PT q=TY NID ¥i | €1 | 21| 6Z | 001 | € XXD  9XXY
ACT+ O3 T [184] _ A.AL\nTvﬁN_ :Jmﬁ 7 | T2 clsz]es | 2 XXa X
. _Quvog MMW.._FGM_ ¥y3Mad ATNO T HI 8 6 01| SZ| OV L e-1r % 8-1r 2-1r
e _H zZ [ A] x| X7 |0343[43L7 -+ A G-+ iy
T T3NNVHD
® 37gvL NOILI3NNDD_XZ @ @
@©-2r Jo-2m b-2r aavod §3L714 03
g-ar  pe-er 6-er A Tovod LG NI o3
1
€L e den N6 H9L'S 01
>< e 74 A2 i4¢-] [5#°] 12| NV
cex £ u_:_ﬂi ant{ 3t + c o
AAAA 0cy 1 ¥z %S ALY + 1o 1NdNI
A2 12y ‘ 8 ' NE WWy U2 A _l_cu
i | ™ o NE r
{ | 1t 1t | 13A3T 83 %S
3det 219 4door 119 %8 N1 4d89 013 syl «M3J AT —AMW—
ﬁm« _v\nw | oot Tra > V§_ _mm
v + | AT {1
, . n__ - 0L AI8S dgor €3
& 1 el 3961 89 s %S 001 AV
CLNNT ITW> €2y wn_‘mu %8 X9, : —MWNW—
1-2r _pI3y e Agl-  SSYdAE ASI- 3
£S1-126 Ol | ¢2-2r) s ASI- 92 | o1
1-er |L Be'sa 61 IoNgIS
avoTd3A0 ASI-
- Auge-
inding A— y—o——— _lo o) 78 %9'C AS1 AM Npe JAM 6d 8y
[y S—N AST+
v — bl
er g2 o2 |2 22y ¥ 90
m P SSYdAL
<
m




